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1. The collector plate in an experiment on
photoelectric effect is kept vertically above the
emitter plate. Light source is put on and a
saturation photocurrent is recorded. An electric
field is switched on which has a vertically
downward direction :-
(1) The photocurrent will increases
(2) The kinetic energy of the electrons will

increase
(3) The stopping potential will decreases
(4) The threshold wavelength will increase

2. What will be the angular width of central maxima

in fraunhoffer diffraction when light of

wavelength 6000Å is used and slit of width is

12 × 10–5 cm : -

(1) 2 rad (2) 3 rad (3) 1 rad (4) 8 rad

3. Assume that the nuclear binding energy per

nucleon (B/A) versus mass number (A) is as

shown in the figure. Use this plot to choose the

correct choice(s) given below : -
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(A) Fusion of two nuclei with mass numbers lying

in the range of 1 < A < 50 will release energy

(B) Fusion of two nuclei with mass numbers lying

in the range of 51 < A < 100 will release

energy

(C) Fission of a nucleus lying in the mass range

of 100 < A < 200 will release energy when

broken into two equal fragments

(D) Fission of a nucleus lying in the mass range

of 200 < A < 260 will release energy when

broken into two equal fragments

(1) A and B (2) A, B and C

(3) B and D (4) only D

4. To observe diffraction the size of an obstacle:-

(1) should be of the order of wavelength

(2) should be much larger than the wavelength

(3) have no relation to wavelength

(4) should be exactly /2

1. 





   :-

(1)  

(2) 

(3)  

(4) 
2. 12 × 10–5 cm

6000Å 

  : -

(1) 2 rad (2) 3 rad (3) 1 rad (4) 8 rad

3. (B/A)

(A) 
:-
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(A)   
1 < A < 50  

(B)   
51 < A < 100 

(C)  100 < A < 200




(D)  200 < A < 260




(1) A  B (2) A, B  C
(3) B  D (4)  D

4.   
 :-

(1) 
(2) 
(3)   
(4) /2 

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS
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5. If an element with principal quantum number

n > 4 were not allowed in nature, the number of

possible elements would be :-

(1) 60 (2) 32 (3) 64 (4) 4

6. In young's experiment the centeral fringe of the

interference pattern produced by light of

wavelength 6000 Å is found to shift to the position

of 4th bright fringe after a glass plate of refractive

index 1.5 is introduced. The thickness of the glass

plate would be : -

(1) 4.8 µm (2) 8.23 µm

(3) 14.98 µm (4) 3.78 µm

7. Atomic masses of two isobars 64

29 Cu  and 64

30 Zn

63.9298u and 63.9292u, respectively. It can be

concluded from this data that : -

(1) Both the isobars are stable

(2) 64Zn is radioactive, decaying to 64Cu through

-decay

(3) Cu64 radioactive, decaying to 64Zn through -

decay

(4) 64Cu is radioactive, decaying to 64Zn through

-decay

8. In Young's experiment, two coherent sources are

placed 0.90mm apart and the fringes are observed

on screen, placed 2m away from slits. If it

produces the second dark fringe at a distance of

1mm from centeral fringe the wavelength of

monochromatic light used would be :-

(1) 60 × 10–4 cm (2) 10 × 10–4 cm

(3) 10 × 10–5 cm (4) 12 × 10–5 cm

9. Which of the following statement is incorrect for

nuclear forces?

(1) There are strongest in magnitude

(2) They are charge dependent

(3) They are effective only for short ranges

(4) They results from interaction of every

nucleon with the nearest limited number of

nucleons.

10. Two monochromatic light waves of amplitude A

and 2A interfering at a point, have a phase

difference of 60°. The intensity at that point will

be : -

(1) 3A2 (2) 5A2

(3) 7A2 (4) 9A2

5. n > 4, 

(1) 60 (2) 32

(3) 64 (4) 4

6. 1.5 

6000 Å 

4th 

 : -

(1) 4.8 µm (2) 8.23 µm

(3) 14.98 µm (4) 3.78 µm

7.  64

29 Cu   64

30 Zn

63.9298u  63.9292u   
 : -

(1) 
(2) 64Zn  64Cu

 
(3) Cu64  

64Zn 
(4) 64Cu   64Zn

 
8. 

0.90mm  2m 

 1mm  



  : -

(1) 60 × 10–4 cm (2) 10 × 10–4 cm

(3) 10 × 10–5 cm (4) 12 × 10–5 cm

9. 

(1)   

(2)   

(3)   

(4) 

 

10. A 2A 
60°

  :-

(1) 3A2 (2) 5A2

(3) 7A2 (4) 9A2

     
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11. Samples of two radioactive nuclides, X and Y,

each have equal activity A
0
 at time t = 0. X has

a half life of 24 years and Y a half life of

16 years. The samples are mixed together. What

will be the total activity of the mixture at t = 48

years?

(1) 
1

2
A

0
(2) 

1

4
A

0
(3) 

3

16
A

0
(4) 

3

8
A

0

12. A small telescope has an objective lens of focal
length 140 cm and an eye piece of focal length
5 cm. What is the magnifying power of the
telescope for viewing distant objects when the
telescope is in normal adjustment (i.e. when the
final image is at infinity)
(1) 13 cm (2) 7 cm
(3) 6 cm (4) 28 cm

13. A metal suraface is illuminated by a light of given

intensity and frequency to case photoemission. If

the intensity of illumination is reduced to one

fourth of its original value, then the maximum

kinetic energy of emitted photoelectrons will

become : -

(1) 

th
1

6

 
 
 

 of original value

(2) Unchanged

(3) Twice the original value

(4) Four times the original

14. A card sheet divided into square each of size

1 mm2 is being viewed at a distance of 9 cm

through a magnifying glass (a converging

lens of focal length 10 cm) held close to the

eye. What is the magnification produced by

the lens

(1) 
10

19
(2) 9 (3) 10 (4) 5

15. The ratio of molecular mass of two radioactive

substances is 
3

2
 and the ratio of their decay

constants is 
4

3
. Then the ratio of their initial

activity per mole will be : -

(1) 2 (2) 
8

9
(3) 

4

3
(4) 

9

8

11. X  Y t = 0 

A
0
 X 

24  Y 16     

 t = 48      
   

(1) 
1

2
A

0
(2) 

1

4
A

0
(3) 

3

16
A

0
(4) 

3

8
A

0

12. 

140 cm5 cm 



 ()

(1) 13 cm (2) 7 cm

(3) 6 cm (4) 28 cm

13. 





                           

   : -

(1) 
1

6

 
 
 



 

(2) 

(3) 

(4) 
14.     

1 mm2 9 cm 


  

(1) 
10

19
(2) 9 (3) 10 (4) 5

15. 
3

2

 
4

3
 

: -

(1) 2 (2) 
8

9

(3) 
4

3
(4) 

9

8
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16. A man with normal near point (25 cm) reads a

book with small print using a magnifying glass:

a thin convex lens of focal length 5 cm. What is

the closest and the farthest distance at which the

should keep the lens from the page so that he can

read the book when viewing through the

magnifying glass

(1) –4.8 cm, –5.2 cm (2) –4.2 cm, –5 cm

(3) –6.2 cm, –8 cm (4) –9 cm, –2.9 cm

17. In the nuclear reaction given by 4 14 1

2 7 1He N H X   ,

the nucleus X is : -

(1) Nitrogen of mass number 16

(2) Nitrogen of mass number 17

(3) Oxygen of mass number 16

(4) Oxygen of mass number 17

18. A screen is placed 90 cm from on object. The

image of the object on the screen is formed by a

concave lens at two different locations separated

by 20 cm. Determine the focal length of the lens.

(1) 12.1 cm (2) 15 cm

(3) 21.4 cm (4) None of these

19. Light of two different frequencies whose

photons have energies 1 eV and 2.5 eV

respectively illuminate a metal of work function

0.5 eV. The ratio of maximum speed of

electrons will be : -

(1) 1 : 5 (2) 1 : 4 (3) 1 : 2 (4) 1 : 1

20. The image of a small electric bulb fixed on the

wall of a room is to be obtained on the opposite

wall 3m away by means of a large convex lens.

What is the maximum possible focal length of the

lens required for the purpase

(1) 3m (2) 1.5m

(3) 0.5m (4) 0.75m

21. Activity of last element of the radioactive

series is : -

(1) Zero (2) Infinite

(3) Less (4) Much less

22. A small telescope has an objective lens of focal

length 144 cm and an eye piece of focal length

6 cm. Find the magnifying power and separation

between the objective and the eye piece

(1) +24, 148 cm (2) –24, 150 cm

(3) 10, 138 cm (4) 3, 75 cm

16.    (25 cm)  



 5 cm 






(1) –4.8 cm, –5.2 cm (2) –4.2 cm, –5 cm

(3) –6.2 cm, –8 cm (4) –9 cm, –2.9 cm

17.  4 14 1

2 7 1He N H X   , 

X  : -
(1)  16 
(2)  17 
(3)  16 
(4) 17 

18.  90 cm
 

20 cm
(1) 12.1 cm (2) 15 cm

(3) 21.4 cm (4) 

19.  

 1 eV  2.5 eV 

0.5 eV 

 : -
(1) 1 : 5 (2) 1 : 4 (3) 1 : 2 (4) 1 : 1

20. 3m 







(1) 3m (2) 1.5m

(3) 0.5m (4) 0.75m

21.  : -

(1)  (2) 

(3)  (4) 

22. 

 144 cm6 cm

 

(1) +24, 148 cm (2) –24, 150 cm

(3) 10, 138 cm (4) 3, 75 cm
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23. If mass of the fissionable material is less than the

critical mass, then : -

(1) Fission and chain reaction both are

impossible

(2) Fission is possible but chain reaction is

impossible

(3) Fission is impossible but chain reaction is

possible

(4) Fission and chain reaction both are possible

24. What is the focal length when a convex lens of

focal length 30 cm in contact with a concave lens

of focal length 20 cm

(1) –12 cm (2) 12 cm

(3) –60 cm (4) +60 cm

25. Two particles A
1
 and A

2
 of masses m

1
,m

2

(m
1
 > m

2
) have the same de-Broglie wavelength

then :-

(A) Magnitude of momentum of both particles are
same

(B) Their energies are the same

(C) Energy of A
1
 is less than the energy of A

2

(D) Energy of A
1
 is more than the energy of A

2

(1) A,B (2) A,B,C

(3) C,D (4) A,C

26. A beam of light converge at a point P. Now

a lens is placed in the path of the convergent

beam 12 cm from P. If the lens is a convex lens

of focal length 20 cm the beam converge at a

point

(1) –15cm (2) +7.5cm (3) –20cm (4) +15cm

27. A proton moves on a circular path of radius

6.6 × 10–3 m in a perpendicular magnetic field of

0.625 T. The de-Broglie wavelength associated

with the proton will be : -

(1) 1Å (2) 0.1Å

(3) 0.01Å (4) 0.001Å

28. A capacitor made of two circular plates each of

radius 12 cm and seprated by 5 cm. The capacitor

being charged by an external source. The charging

current is constant and equal to 0.15A. The value

of displacement current across the plates :-

(1) 0.15 A (2) 0.30 A

(3) 0.125 A (4) Zero

23.  

: -

(1)  

(2) 

(3) 

(4) 

24.  30 cm 20 cm

 

 

(1) –12 cm (2) 12 cm

(3) –60 cm (4) +60 cm

25. m
1
 m

2
 (m

1
 > m

2
)A

1
  A

2 


 : -

(A) 

(B) 

(C) A
1
  A

2 


(D) A
1
  A

2 


(1) A,B (2) A,B,C

(3) C,D (4) A,C

26.  P 

P  12 cm 

20cm

:-

(1) –15cm (2) +7.5cm (3) –20cm (4) +15cm

27.    0.625 T    

6.6 × 10–3 m 

 : -

(1) 1Å (2) 0.1Å

(3) 0.01Å (4) 0.001Å

28. 12 cm 

5 cm. 



 0.15A :-

(1) 0.15 A (2) 0.30 A

(3) 0.125 A (4) 

  Key Filling     
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29. Two simple harmonic motions are represented by

the equations y1 = 0.1 sin 100 t
3

 
     and

y2 = 0.1 cos100t. The phase difference of the

velocity of particle 1 with respect to the velocity

of particle 2 is :-

(1) 
3


(2) 

6


(3) 

6


(4) 

3



30. Which of the following is Ampere-Maxwell

Law:-

(1) 
net

0

q
E ds 


 


(2) B.ds 0
 


(3) md
E.d

dt


 



(4) e
0 c 0 0

d
B.d i

dt


   



31. The periodic time of a body executing simple

harmonic motion is 3s. After how much interval

from time t = 0, its displacement will be half of

its amplitude :-

(1) 
1

8
s (2) 

1

6
s (3) 

1

4
s (4) 

1

3
s

32. A plane electromagnetic wave of frequency
25 MHz  travels in free space along +x direction.

At a particular point in space and time ˆE 6.3j


V/m.

The B


 at this point is :-

(1) 2.1 × 10–8 k̂ T (2) 2.1 × 10–8 (– k̂ )T

(3) 4.2 × 10–8 k̂ T (4) 4.2 × 10–8 (– k̂ )T

33. The potential energy of a particle executing

S.H.M. is 2.5 J when its displacement is half of

amplitude. The total energy of the particle be:-

(1) 18 J (2) 10 J (3) 12 J (4) 2.5 J

34. The current and voltage equation of a circuit are

i = 100 sin (100 t) mA &

V = 100 sin (100 t + /3) V.

The power dissipated in circuit is :-

(1) 10 W (2) 2.5 W (3) 5W (4) 5 kW

35. A particle is executing simple harmonic motion

with frequency f. The frequency at which its

kinetic energy change is :-

(1) f/2 (2) f (3) 2f (4) 4f

29. 

y1 = 0.1 sin 100 t
3

 
     y2 = 0.1 cos100t

2 1

 :-

(1) 
3


(2) 

6


(3) 

6


(4) 

3



30.   :-

(1) net

0

q
E ds 


 


(2) B.ds 0
 


(3) md
E.d

dt


 



(4) e
0 c 0 0

d
B.d i

dt


   



31.    3s

t = 0 

     :-

(1) 
1

8
s (2) 

1

6
s (3) 

1

4
s (4) 

1

3
s

32. 25 MHz

+ x 

  ˆE 6.3j


V/m. 

  B


  :-

(1) 2.1 × 10–8 k̂ T (2) 2.1 × 10–8 (– k̂ )T

(3) 4.2 × 10–8 k̂ T (4) 4.2 × 10–8 (– k̂ )T

33. 
2.5 J 
 :-
(1) 18 J (2) 10 J (3) 12 J (4) 2.5 J

34. 
i = 100 sin (100 t) mA 
V = 100 sin (100 t + /3)V.

  :-
(1) 10 W (2) 2.5 W (3) 5W (4) 5 kW

35. f 
  :-
(1) f/2 (2) f

(3) 2f (4) 4f
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36. When 100 V d.c. source is connect across coil a

current of 1A flow through it when 100V a.c.

source of 50 Hz connect across same coil only

0.5 A current flows through it. The inductance of

coil is :-

(1) 
3


 H (2) 

3


 H

(3) 
2


H (4) None of these

37. In stationary waves distance between a node and

its nearest antinode is 20 cm. Value of wavelength

will be :-

(1) 20 cm (2) 40 cm (3) 60 cm (4) 80 cm

38. A circuit shown in   



B

v=constR

L

N

× ××× ××

× ××× ×

× ××× ××

figure placed in

horizontal plane of

uniform field region.

Resistanceper unit

length of wire LN is

r, then potential difference between L and N

points:-

(1) Bv (2) Bv
R

R r

 
 

 

(3) Bv 
r

R r

 
 

 




(4) Bv

R

R r

 
 

 

39. Four wires of identical length, diameters and of the

same material are stretched on a sonometre wire. If

the ratio of their tensions is 1 : 4 : 9 : 16 then the ratio

of their fundamental frequencies are :-

(1) 16 : 9 : 4 : 1 (2) 4 : 3 : 2 : 1

(3) 1 : 4 : 2 : 16 (4) 1 : 2 : 3 : 4

40. A conducting rod rotates about axis which passes

through point O and perpendicular to length of rod

with constant angular speed  in  uniform field

according to figure. The ratio of potential

difference (VPQ/VRQ) is :-

O



R
PQ

B

 3


(1) 4 : 3 (2) 2 : 3 (3) 1 : 1 (4) 8 : 3

36. 100 V 
  1A 
100V 
0.5 A 
 :-

(1) 
3


 H (2) 

3


 H

(3) 
2


H (4) 

37. 
20 cm  :-
(1) 20 cm (2) 40 cm

(3) 60 cm (4) 80 cm

38.  



B

v=R

L

N

× ××× ××

× ××× ×

× ××× ××

 
     
 LN


 r  
L   N  
 :-

(1) Bv (2) Bv
R

R r

 
 

 

(3) Bv 
r

R r

 
 

 




(4) Bv

R

R r

 
 

 

39. 

1 : 4 : 9 : 16 
 :-
(1) 16 : 9 : 4 : 1 (2) 4 : 3 : 2 : 1

(3) 1 : 4 : 2 : 16 (4) 1 : 2 : 3 : 4

40.  O 



 

  (VPQ/VRQ)  :-

O



R
PQ

B

 3


(1) 4 : 3 (2) 2 : 3 (3) 1 : 1 (4) 8 : 3
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41. A sound source is moving towards a stationary

observer with 1/10 of the speed of sound. The ratio

of apparent to real frequency is :-

(1) 10/9 (2) 11/10

(3) (11/10)2 (4) (9/102)

42. A thin copper plate fall  

v1

v2

v3

B×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×
down in the effect of

gravity according to

figure. A uniform limited

horizontal magnetic field

exists in region. Which is

correct relation between

instantaneous velocities of

sheet :-

(1) v1 > v2 > v3 (2) v3 > v2 > v1

(3) v3 > v1 > v2 (4) v2 > v1 > v3

43. Two sirens situated one kilometer apart are

producing sound of frequency 330 Hz. An

observer starts moving from one siren to the other

with a speed of 2 m/s. If the speed of sound be

330 m/s, what will be the beat frequency heard by

the observer (Speed of sound = 330 m/s):-

(1) 8 (2) 4 (3) 6 (4) 1

44. Two circuits placed in plane of the paper

according to figure. If current in primary circuit

increases with respect to time then direction of

induced current in secondary circuit is :-

+ –

(1) CW (2) ACW

(3) Zero (4) None

45. The power of sound from the speaker of a radio

is 20 mW. By turning the knob of the volume

control, the power of the sound is increased to 400

mW. The power increase in decibels as compared

to the original power is :-

(1) 13 dB (2) 10 dB

(3) 20 dB (4) 800 dB

41. 1/10 

 :-

(1) 10/9 (2) 11/10

(3) (11/10)2 (4) (9/102)

42.          

v1

v2

v3

B×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

×

   

     

    



:-

(1) v1 > v2 > v3 (2) v3 > v2 > v1

(3) v3 > v1 > v2 (4) v2 > v1 > v3

43.  
330 Hz 
2 m/s    
       
( = 330 m/s):-

(1) 8 (2) 4

(3) 6 (4) 1

44. 



 :-

+ –

(1)  (2) 

(3)  (4) 

45. 
20 mW    
 400 mW 
   
    :-

(1) 13 dB (2) 10 dB

(3) 20 dB (4) 800 dB

Use stop, look and go method in reading the question
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46.
2

(1M) (1M)

Ni | Ni || Ag | Ag 

2

0

Ni |Ni
E   = – 0.25 V

0

Ag |Ag
E   = 0.80.

Calculate EMF for the above cell :-

(1) 0.55 V (2) –1.05 V

(3) 1.05 V (4) 0.58 V

47. The complex compounds [Co(SO
4
)(NH

3
)

5
]Br and

[Co(SO
4
)(NH

3
)

5
]Cl represent : -

(1) Linkage isomerism

(2) Ionisation isomerism

(3) Coordination isomerism

(4) No isomerism

48. 2

0

Mg |Mg
E   = – 2.37 V and 3

0

Fe |Fe
E   = – 0.04 V

than best reductant among the following is :-

(1) Mg2+ (2) Fe3+ (3) Mg (4) Fe

49. Which of the following is not a chelating ligand:-

(1) Oxalato

(2) Glycinato

(3) Ethylene diamine tetra acetato

(4) Hydrazine

50. Electrode potential data are given below :

3 2
(aq.) (aq)Fe e Fe : E 0.77      .

3
(aq.) (s)Al 3e Al ;E 1.66V     

2(aq) (aq.)Br 2e 2Br ;E 1.08V     

Based on the data given above, reducing power

of Fe2+, Al and Br– will increase in the order.

(1) Br– < Fe2+ < Al (2) Fe2+ < Al < Br–

(3) Al < Br– < Fe2+ (4) Al < Fe2+ < Br–

51. Which of the following complex is an outer orbital

complex?

(1) [Fe(CN)
6
]–4 (2) [CO(NH

3
)

6
]+3

(3) [Mn(CN)
6
]–4 (4) [Ni(NH

3
)

6
]+2

52. Which of the following statements about the

spontaneous reaction occurring in a galvanic cell

is always true ?

(1) E°
cell

 > 0, G° < 0 : and Q < K

(2) G° < 0, E°
cell

 > 0 and Q > K

(3) E°
cell

 > 0 : G°
 
> 0 and Q > K

(4) E
cell

  > 0 : G < 0 and Q < K

46.
2

(1M) (1M)

Ni | Ni || Ag | Ag 

2

0

Ni |Ni
E   = – 0.25 V

0

Ag |Ag
E   = 0.80.

 EMF  :-
(1) 0.55 V (2) –1.05 V

(3) 1.05 V (4) 0.58 V

47.     [Co(SO
4
)(NH

3
)

5
]Br 

[Co(SO
4
)(NH

3
)

5
]Cl  : -

(1) 
(2) 
(3) 
(4)  

48. 2

0

Mg |Mg
E   = – 2.37 V  3

0

Fe |Fe
E   = – 0.40 V

 :-
(1) Mg2+ (2) Fe3+ (3) Mg (4) Fe

49.  : -

(1) 
(2) 
(3) 
(4) 

50.    :
3 2
(aq.) (aq)Fe e Fe : E 0.77      .

3
(aq.) (s)Al 3e Al ;E 1.66V     

2(aq) (aq.)Br 2e 2Br ;E 1.08V     

Fe2+, Al  Br– 
  :-
(1) Br– < Fe2+ < Al (2) Fe2+ < Al < Br–

(3) Al < Br– < Fe2+ (4) Al < Fe2+ < Br–

51.  : -

(1) [Fe(CN)
6
]–4 (2) [CO(NH

3
)

6
]+3

(3) [Mn(CN)
6
]–4 (4) [Ni(NH

3
)

6
]+2

52. Galvanic cell 
                     
 ?

(1) E°
cell

 > 0, G° < 0 :  Q < K

(2) G° < 0, E°
cell

 > 0  Q > K

(3) E°
cell

 > 0 : G°
 
> 0  Q > K

(4) E
cell

  > 0 : G < 0  Q < K

Take it Easy and Make it Easy
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53. IUPAC name of H
2
[PtCl

6
] is : -

(1) Hydrogen hexachloroplatinum (IV)

(2) Dihydrogen hexachloroplatinate (IV)

(3) Dihydrogen hexachloroplatinic (IV) acid

(4) Hexachloroplatinic (IV) acid

54. Which of the following species does not show

disproportionation :-

(1) ClO¯ (2) 2ClO

(3) 3ClO (4) 4ClO

55. Aqueous solution of Ni+2 contains [Ni(H
2
O)

6
]+2

ion

and its spin only magnetic moment is 2.83 B.M.

When ammonia is added in it then comment on

the spin only magnetic moment of solution : -

(1) It will increase from 2.83B.M.

(2) It will decrease from 2.83B.M.

(3) It will remain same

(4) None of these

56. N
2
 + 3H

2
  2NH

3
, molecular weight of NH

3
 and

N
2
 are X

1
 and X

2
, their equivalent weight are Y

1

and Y
2
. Then (Y

1
 – Y

2
) are :-

(1) 
1 22X X

6

 
   (2) (X

1
 – X

2
)

(3) 3X
1
 – X

2
(4) (X

1
 – 3X

2
)

57. Consider the following isomerism : -

(i) Ionization (ii) Hydrate

(iii) Coordination (iv) Geometrical

(v) Optical

Which of the following isomerisms are exhibited

by [Cr(NH
3
)

2
(OH)

2
 Cl

2
]–

(1) I and IV (2) II and III

(3) III, II and I (4) IV and V

58. The incorrect order of decreasing oxidation

number of central atom in compounds is :-

(1) H
2
S

2
O

7
 > Na

2
S

4
O

6
 > Na

2
S

2
O

3
 > S

8

(2) H
2
SO

5
 > H

2
SO

3
 > SCl

2
 > H

2
S

(3) SO
3
 > SO

2
 > H

2
S > S

8

(4) H
2
SO

4
 > SO

2
 > H

2
S > H

2
S

2
O

8

59. Which of the following complex is not optically

active?

(1) [Pt(NH
3
)(Py)(CN)(SCN)ClBr]

(2) [Cr(OX)
3
]–3

(3) cis – [CoCl
2
(en)

2
]+

(4) trans – [CoCl
2
(en)

2
]+

53. H
2
[PtCl

6
]  IUPAC  : -

(1)  (IV)

(2)  (IV)

(3) (IV) 
(4) (IV) 

54.       
 :-

(1) ClO¯ (2) 2ClO

(3) 3ClO (4) 4ClO

55. Ni+2 [Ni(H
2
O)

6
]+2

 


2.83 B.M.  

: -
(1) 2.83B.M. 
(2) 2.83B.M. 
(3) 
(4)  

56. NH
3
  N

2
 X

1
 X

2 


Y
1
  Y

2
    N

2
 + 3H

2
  2NH

3 
 

(Y
1
 – Y

2
)  :-

(1) 
1 22X X

6

 
   (2) (X

1
 – X

2
)

(3) 3X
1
 – X

2
(4) (X

1
 – 3X

2
)

57.  : -
(i)  (ii) 
(iii)  (iv) 
(v) 
           
[Cr(NH

3
)

2
(OH)

2
 Cl

2
]– : -

(1) I  IV (2) II  III
(3) III, II  I (4) IV  V

58. 
  :-
(1) H

2
S

2
O

7
 > Na

2
S

4
O

6
 > Na

2
S

2
O

3
 > S

8

(2) H
2
SO

5
 > H

2
SO

3
 > SCl

2
 > H

2
S

(3) SO
3
 > SO

2
 > H

2
S > S

8

(4) H
2
SO

4
 > SO

2
 > H

2
S > H

2
S

2
O

8

59.  :-

(1) [Pt(NH
3
)(Py)(CN)(SCN)ClBr]

(2) [Cr(OX)
2
]–3

(3) cis – [CoCl
2
(en)

2
]+

(4) trans – [CoCl
2
(en)

2
]+

         
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60. The standard electrode potentials of

[Pt / Fe2+, Fe3+) and [Pt/Sn4+, Sn2+| are 0.77 V and

0.15 V respectively at 25ºC. The standard EMF

of the reaction :-

Sn4+ + 2Fe2+  Sn2+ + 2Fe3+ is

(1) – 0.62 V (2) +0.92 V

(3) + 0.31 V (4) + 0.85 V

61. Which of the following ore does not contain Mg?

(1) Carnallite (2) Epsom salt

(3) Magnetite (4) Magnesite

62. ClO3 ClO
–

Cl¯1
2
Cl2

0.45V 1.07V

0.71V

Eº

0.54V

The Eº in the given figure is :-

(1) 0.51 V (2) 0.61 V

(3) 0.78 V (4) 0.82 V

63. The function of flux during the smelting of the ore

is : -

(1) To make the ore porous

(2) To facilitate reduction

(3) To remove non fussible impurities

(4) To produce froath

64. Value of 
M
  for SrCl

2
 in water at 25ºC from the

following data :-

Concn (mol/lit) 0.25 1


m
 (–1 cm2 mol–1) 260 250

(1) 270 (2) 260

(3) 250 (4) 255

65. Zone refining is based on the principle that : -

(1) Impurities of low boiling metals can be

seperated by distillation

(2) Impurities are more soluble in molten metal

than in solid metal

(3) Different components of a mixture are

differently adsorbed on an adsorbent

(4) Vapours of volatile compound can be

decomposed in pure metal

66. A current of 9.95 amperes flowing for 10 minutes,

deposits 3 gm of metal equivalent weight of the

metal is :-

(1) 12.5 (2) 18.5

(3) 21.5 (4) 48.5

60. [Pt / Fe2+, Fe3+)  [Pt/Sn4+, Sn2+|

0.77 V 0.15 V 
25ºC   EMF

 -
Sn4+ + 2Fe2+  Sn2+ + 2Fe3+

(1) – 0.62 V (2) +0.92 V

(3) + 0.31 V (4) + 0.85 V

61. Mg ?
(1)  (2) 
(3)  (4) 

62. ClO3 ClO
–

Cl¯1
2
Cl2

0.45V 1.07V

0.71V

Eº

0.54V

Eº  :-
(1) 0.51 V (2) 0.61 V

(3) 0.78 V (4) 0.82 V

63.   : -

(1)  

(2) 

(3)  

(4) 

64. 25ºC SrCl
2
 

M
  

 :-
Concn (mol/lit) 0.25 1


m
 (–1 cm2 mol–1) 260 250

(1) 270 (2) 260

(3) 250 (4) 255

65.  : -

(1) 


(2) 


(3) 


(4) 


66. 9.95 ampere  10 minute 
 3 gm    
  :-
(1) 12.5 (2) 18.5

(3) 21.5 (4) 48.5
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67. The drug given during hypertension is –

(1) Streptomycin

(2) Chloroxylenol

(3) Equanil

(4) Aspirin

68. Among the electrolytes Na
2
CO

3
, CaCl

2
, Al

2
(SO

4
)

3

and NH
4
Cl, the most effective coagulating agent

for Sb
2
S

3
 sol is :-

(1) Na
2
SO

4
(2) CaCl

2

(3) Al
2
(SO

4
)

3
(4) NH

4
Cl

69. Chloramphenicol is an –

(1) Analgesic (2) Anaesthetic

(3) Antibiotic (4) Antiseptic

70. Which of the following is a mismatch :-

(1) Lyophilic colloids - Reversible sols

(2) Associated Colloids - Micelles

(3) Tyndall effect  - Scattering of light by colloidal

particle

(4) Electrophoresis  - Movement of dispersion

medium under the influence of magnetic field.

71. Main air pollutant among the following is

(1) CO (2) CO
2

(3) N
2

(4) Sulphur

72. (A) At 298 K, the volume of NH
3
 adsorbed by 1gm

of charcoal is higher than that of H
2
 under

similar conditions

(B) Metal sols of gold, silver and platinum can be

prepared by Bredig's arc method.

(C) Peptization is the process by which certain

substances are converted into the colloidal state

(D) Liquid-liquid sol is known as emulsion

(1) T, T, T, F (2) T, T, T, T

(3) T, F, T, T (4) F, T, T, T

73. Glucose and mannose are :-

(1) Optical isomers

(2) Anomers

(3) Epimers

(4) Chain isomers

74. Edge length of following crystal is 100 pm; which

of the following crystal will have highest

interionic distance.

(1) CsCl (2) NaCl

(3) ZnS (4) CaF
2

75. Which one of the following is a linear polymer-

(1)Amylopectin (2) Glycogen

(3)  Starch (4) Amylose

67. 
(1) 
(2) 
(3) 
(4) 

68. Sb
2
S

3
 Na

2
CO

3
, CaCl

2
, Al

2
(SO

4
)

3
 

NH
4
Cl 

 :-
(1) Na

2
SO

4
(2) CaCl

2

(3) Al
2
(SO

4
)

3
(4) NH

4
Cl

69. 
(1)   (2) 
(3)  (4) 

70.   :-
(1)  - 
(2) - 
(3)  -      


(4) - 
 

71.  
(1) CO (2) CO

2

(3) N
2

(4) 
72. (A) 298 K                     

 NH
3 
H

2
  

 
(B) 
  

(C)  


(D) -  (Emulsion)  
(1) T, T, T, F (2) T, T, T, T

(3) T, F, T, T (4) F, T, T, T

73.  :-
(1) 
(2) 
(3) 
(4) 

74.     100 pm ;
         

(1) CsCl (2) NaCl

(3) ZnS (4) CaF
2

75.  -
(1) (2) 
(3)   (4) 
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76. For which of the following order of reaction both

rate and rate constant is equal and also rate law

is independent of law of non action ?

(1) Zero order (2) First order

(3) Second order (4) Third order

77. Which of the following reduces Tollen's

reagent :-

(1) Glucose (2) Fructose

(3) Lactose (4) All

78. The density of KBr is 2.75 gm/cc, length of unit

cell is  654 pm k = 38, Br = 80, then what is true

about the predicted nature of the solid  :-

(1) Solid has F.C.C. structure with co-ordination

number  = 6

(2) Solid has simple cubic structure with co-

ordination number = 4

(3) Solid has F.C.C. structure with co-ordination

number = 1

(4) None of these

79. Identify the wrong statement in the following

(1) Chlorofluorocarbons are responsible for ozone

layer depletion

(2) Greenhouse effect is responsible for global

warming

(3) Ozone layer does not permit infrared radiation

from the sun to reach the earth

(4) Acid rain is mostly because of oxides of ni-

trogen and sulphur

80. The value of quantum number for the outer most

electron in scandium are :-

(1) n = 3,  = 2 (2) n = 3,  = 3

(3) n = 4,  = 0 (4) n = 2,  = 3

81. The living organisms on or around the earth

consitute

(1) Biome

(2) Biosphere

(3) Community

(4) Biocoenosis

82. 1 gm H
2
 gas at STP is expanded so that volume

is doubled. Hence work done is :-

(1) – 22.4 lit. atm

(2) – 11.2 lit. atm

(3) – 44.8 lit. atm

(4) +11.2 lit. atm

76. 
   
  
(1)  (2) 
(3)  (4) 

77. 
 :-
(1)  (2) 
(3)  (4) 

78. KBr 2.75 gm/cc 
654 pm  k = 38, Br = 80, 
 :-
(1) = 6 F.C.C. 


(2) = 4 


(3) = 1 F.C.C. 


(4) 
79. 

(1) 


(2) 
 

(3) 


(4) 


80. 
  :-
(1) n = 3,  = 2 (2) n = 3,  = 3

(3) n = 4,  = 0 (4) n = 2,  = 3

81. 
 
(1) 
(2) 
(3) 
(4)

82. STP , 1 gm H
2
 

  :-
(1) – 22.4 lit. atm

(2) – 11.2 lit. atm

(3) – 44.8 lit. atm

(4) +11.2 lit. atm

      
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83. Which of the following compounds is aspirin –

(1) Methyl salicylate

(2) Acetylsalicylic acid

(3) Phenyl salicylate

(4) Salicylic acid

84. Glucose is a/an :-

(1) Aldohexose

(2) Aldopentose

(3) Aldotetrose

(4) Ketohexose

85. Which one of the following monomers gives the

polymer neoprene on polymerization –

(1) CH2 CHCl

(2) CCl2 CCl2

(3) C

Cl

CH2 CH CH2

(4) CF2 CF2

86. In both DNA and RNA, heterocyclic base and

phosphate ester linkage are at-

(1) '
5C  and '

1C  respectively of the sugar molecule

(2) '
1C  and '

5C  respectively of the sugar molecule

(3) '
2C  and '

5C  respectively of the sugar molecule

(4) '
5C  and '

2C  respectively of the sugar molecule

87. Which of the following is a biodegradable

polymer

(1) Cellulose (2) Polythene

(3) Polyvinyl chloride (4) Nylon-6

88. Which of the following is not a pyrimidine :-

(1) Uracil (2) Guanine

(3) Cytosine (4) Thymine

89. Vitamin B
6
 is known as :-

(1) Pyridoxine (2) Thiamine

(3) Tocopherol (4) Riboflavin

90. Insulin is a :-

(1) Steroid hormone

(2) Peptide hormone

(3) Amine hormone

(4) None of the above

83. 

(1) 

(2) 

(3) 

(4) 

84.  :-

(1) 

(2) 

(3) 

(4) 
85.  


(1) CH2 CHCl

(2) CCl2 CCl2

(3) C

Cl

CH2 CH CH2

(4) CF2 CF2

86. DNA RNA , 
-

(1)  '
5C   '

1C  

(2)  '
1C   '

5C  

(3)  '
2C   '

5C  

(4)  '
5C   '

2C  

87.  

(1)  (2) 

(3)  (4) -6

88.  :-

(1)  (2) 

(3)  (4) 

89. B
6
  :-

(1)  (2) 

(3)  (4) 

90.  :-

(1) 

(2) 

(3) 

(4) 
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91. Match the following :-

A Soft Cheese a Semi hard

B Raw Cheese b Camembert

C Roquefort Cheese c Hard cheese

D Swiss Cheese d Cottage cheese

(1) A - b; B - d; C - a; D - c

(2) A - d; B - b; C - c; D - a

(3) A - b; B - d; C - c; D - a

(4) A - b; B - a; C - d; D - c

92. The animals which can with stand narrow range

of temperature are called :-

(1) Eurythermal (2) Mesothermal

(3) Stenothermal (4) Monothermal

93. Yoghurt is obtained from :-

(1) Streptococcus thermophilus

(2) Lactobacillus bulgaricus

(3) Penicillium roqueforti

(4) Both (1) and (2)

94. The food chain in which microbes breakdown

energy rich compounds synthesized by producers

is called :-

(1) Ecosystem

(2) Predator food chain

(3) Parasitic food chain

(4) Detritus food chain

95. How many of the following is correctly matched

regarding their source :-

(A) Rennet Calf Stomach

(B) Protease Aspergillus oryzae

(C) Tissue Streptokinase

Plasminogen

Activator

(D) Cyclosporin -A Trichoderma

(1) 1 (2) 2 (3) 3 (4) 4

96. BOD in a river water :-

(1) Remain unchanged when algal bloom occur

(2) Increases when sewage gets mixed with river

water

(3) Give a measure of salmonella in water

(4) Has no relationship with organic matter present

in river water

91.   :-

A  a 

B  b 

C  c 

D  d 

(1) A - b; B - d; C - a; D - c

(2) A - d; B - b; C - c; D - a

(3) A - b; B - d; C - c; D - a

(4) A - b; B - a; C - d; D - c

92.   

(1)  (2) 

(3)  (4)  

93.  :-
(1) Streptococcus thermophilus

(2) Lactobacillus bulgaricus

(3) Penicillium roqueforti

(4) Both (1) and (2)

94.  
   

(1) 

(2) 

(3) 

(4) 
95.           

 :-

(A) Rennet Calf Stomach

(B) Protease Aspergillus oryzae

(C) Tissue Streptokinase

Plasminogen

Activator

(D) Cyclosporin -A Trichoderma

(1) 1 (2) 2 (3) 3 (4) 4

96. BOD :-

(1)  

(2)  

(3) 

(4) 



   
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97. Which pyramid represents a stable population:-

(a) 

Pre-reproduction

Reproduction

Post 
reproduction

(b) 

Pre-reproduction

Reproduction

Post 
reproduction

(c) 

Pre-
reproduction

reproduction

Post 
reproduction

(d)   

post 
reproductive

Reproductive

Pre 
reproductive

(1) a and b (2) b only

(3) c only (4) a and d

98. Which one of following types of organisms

occupy more than one trophic level in a pond

ecosystem:

(1) Frog (2) Fish

(3) Zooplankton (4) Phytoplankton

99. Population growth (P.G.) also represented as  :-

(1) P.G. = (B + I) – (D + E)

(2) P.G. = (B + E) – (D + I)

(3) P.G. = (B + D) – (E + I)

(4) All the above

100. Which statement is correct?

(a) GPP is abailable biomass for consumption to

heterotrops.

(b) Secondary productivity is defined as rate of

formation of new organic matter by producers

(c) The productivity of ocean is 55 million tons.

(d) Warm and moist environment favours

decomposition.

(1) d (2) b (3) a (4) c

97. (Stable population)

  :-

(a) 

Pre-reproduction

Reproduction

Post 
reproduction

(b) 

Pre-reproduction

Reproduction

Post 
reproduction

(c) 

Pre-
reproduction

reproduction

Post 
reproduction

(d)   

post 
reproductive

Reproductive

Pre 
reproductive

(1) a  b (2) b
(3) c (4) a  d

98. 
  

(1)  (2) 

(3)   (4) 

99. (P.G.)  :-
(1) P.G. = (B + I) – (D + E)

(2) P.G. = (B + E) – (D + I)

(3) P.G. = (B + D) – (E + I)

(4) 
100.  

(a) GPP  



(b) 



(c) 55 
(d) 
(1) d (2) b (3) a (4) c
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101. Logistic growth curve described by :-

(1) 
dN

r
dt

 (2) 
dN (K N)

rN
dt K




(3) 
dN

K
dt

 (4) 
dN K

dt N


102. Increase in concentration of toxicant at successive

trophic level is called :-

(1) BOD             (2) Eutrophication

(3) Biomagnification  (4) Cultural eutorphication

103. How many of the following is concerned with

fishery?

– Pisciculture, – Major carp

– Hypophysation, – Fingerling

– Pork

(1) 2 (2) 3 (3) 4 (4) 5

104. How many statements are correct :-

(a) Hydrosphere is reservoir for the gaseous type

of cycle

(b) Earth's crust is reservoir for sedimentary type

of cycle

(c) Pyramid of biomass in grassland is erect.

(d) Predator act as 'Conduits' for energy transfer

across trophic levels.

(1) Two (2) One (3) Four (4) Three

105. Match the following :-

A Round dance a Fish

B Isinglass b Poultry

C Game bird c Honey bee

D Ranikhet d Aseel

(1) A - c; B - a;   C - d;   D - b
(2) A - a; B - c;   C - b;   D - d
(3) A - d; B - b;   C - a;   D - c
(4) A - c; B - d;   C - a;   D - b

106. How many statements are correct :

(a) Trophic level represents functional level not

a species as such.

(b) A same species may occupy more than one

torphic level in same ecosystem at same time

(c) In most ecosystem, all the pyramids, of

number, of energy and biomass are upright.

(d) Energy at higher trophic level is more as

compared to lower level as they are physically

strong.

(1) Three (2) One (3) Four (4) Two

101.   :-

(1) 
dN

r
dt

 (2) 
dN (K N)

rN
dt K




(3) 
dN

K
dt

 (4) 
dN K

dt N


102. 
 
(1) BOD (2) 
(3)  (4) 

103.  

– , – 

– , – 
– 

(1) 2 (2) 3 (3) 4 (4) 5

104.   
(a) 
(b) 


(c) 
(d)      

(Conduits) 
(1)  (2) 
(3)  (4) 

105.   :-

A  a 

B Isinglass b 

C  c 

D  d 
(1) A - c; B - a;   C - d;   D - b
(2) A - a; B - c;   C - b;   D - d
(3) A - d; B - b;   C - a;   D - c
(4) A - c; B - d;   C - a;   D - b

106.   
(a) 
 

(b) 


(c) 
  

(d)  

 

(1)  (2)  (3)  (4) 
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107. How many of the following is correctly matched:-

A Honey Fructose

B Lac Resin

C Silk Sericin

D Grasserie Viral disease

(1) 2 (2) 3 (3) 4 (4) 1

108. How many statements are correct ?

(a) Pyramid of biomass in sea is inverted

(b) Pyramid of energy is never inverted

(c) In terrestial ecosystem, a much larger fraction

of energy flows through detritus food chain

(d) Humus is highly resistant to microbial action.

(1) One (2) Four

(3) Two (4) Three

109. How many of the following is/are product(s) of

fermentation-




–Alcohol –Beer –Wine –Brandy 
–Gin –Rum –Yeast

(1) 6 (2) 4

(3) 3 (4) 2

110. Humus is degraded by some microbes and release

of inorganic nutrient occur by process known as:-

(1) Decomposition

(2) Catabolism

(3) Humification

(4) Mineralisation

111. How many of the following statements are correct

regarding humulin :-

(A) It is a genetically engineered insulin

(B) It has 51 amino acids

(C) A, B and C peptides are present in proinsulin

(D) It was first synthesize in E.coli

(1) 2 (2) 1 (3) 3 (4) 4

112. Limitations of ecological pyramids are :-

(a) It does not take into accounts the same species

belonging to two or more trophic level

(b) It assumes a simple food chain

(c) Saprophytes are not given any place

(d) It doesnot accomodate a food web

(1) Two (2) One

(3) Three (4) All

107.   :-

A  

B  

C  

D Grasserie  

(1) 2 (2) 3 (3) 4 (4) 1

108.   
(a)   
(b)   
(c) 


(d) 


(1)  (2) 
(3)  (4) 

109.    -



– – – – 
– – –

(1) 6 (2) 4

(3) 3 (4) 2

110. 
 
(1) 
(2) 
(3) 
(4) 

111.   :-

(A)  

(B) 51 

(C) A, B C 

(D) E.coli   
(1) 2 (2) 1 (3) 3 (4) 4

112.   
(a) 


(b) 
(c) 


(d)  
(1)  (2) 
(3)  (4) 

        
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113. Match the following :-

A -lactalbumin a Pentadiplantra

B -1 antitrypsin b Tomato

C Flavr savr c Rosie

D Brazzein d Emphysema

(1) A - c; B - a;   C - b;   D - d

(2) A - c; B - d;   C - b;   D - a

(3) A - a; B - b;   C - d;   D - c

(4) A - c; B - b;   C - d;   D - a

114. Which almost never exists in nature :-

(1) Food web (2) Simple Food chain

(3) Ecosystem (4) None

115. The characteristic feature of a population is :-

(1) Birth rate (2) Death Rate

(3) Age pyramid (4) All of these

116. Main cause of extinction of biodiversity :-

(1) Habitat loss

(2) Over production of organism

(3) Low death rate

(4) None

117. Number of birth during a given period in the

population is called as :-

(1) Natality (2) Mortality

(3) Immigration (4) Emigration

118. 71% carbon is found dissolved in :-

(1) River (2) Atmosphere

(3) Ocean (4) Rock

119. Read the following statement (A-D)

(A) If the pathogens succeed in gaining entry

to our body, specific antibodies (humoral

immune response)  and  cel l s  (cel l

mediated immune response) serve to kill

these pathogens

(B) Vector-borne diseases like malaria especially one

caused by plasmodium falciparum, if not treated,

may prove fatal

(C) Cancers are not curable even if detected early

and appropriate therapeutic measures are

taken

(D) AIDS caused by the human immuno-deficiency

virus (HIV) is fatal but can be prevented if certain

precautions are taken.

How many of the above statements are true : -

(1) 4 (2) 3 (3) 2 (4) 1

113.  :-

A - lactalbumin a Pentadiplantra

B -1 antitrypsin b Tomato

C Flavr savr c Rosie

D Brazzein d Emphysema

(1) A - c; B - a;   C - b;   D - d

(2) A - c; B - d;   C - b;   D - a

(3) A - a; B - b;   C - d;   D - c

(4) A - c; B - b;   C - d;   D - a

114. 
(1)  (2) 
(3)  (4) 

115.  ?

(1)  (2) 
(3)   (4) 

116.   
(1) 
(2) 
(3) 
(4) 

117. 
 :-
(1)  (2) 
(3)  (4) 

118. 71 
(1)  (2) 
(3)  (4) 

119. (A-D)

(A) 




 

(B) 





(C) 



(D)   



 
: -
(1) 4 (2) 3 (3) 2 (4) 1
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120. An ecosystem is represented by a tree, an

earthworm, and bird are all part of this ecosystem.

They differ from each other with respect to :-

(1) Habitat

(2) Niche

(3) Abiotic component

(4) None

121. How many signs in the list given below are

included in warning signs of drug and alcohol

abuse?

Drop in academic performance, isolation,

increased interest in hobbies, fluctuations in

weight, aggressive behaviour, fatigue

(1) 6 (2) 5

(3) 4 (4) 3

122. In stable ecosystems, which of the following limits

the number of trophic levels :-

(1) Biomass

(2) The number of primary producers

(3) Availability of nutrients

(4) None

123. Which of the following statement is false : -

(1) The adverse effects are just not restricted to

the person who is using drug or alcohol

(2) At times, a drug/alcohol addict becomes the

cause of mental and financial distress to

his/her entire family and friends

(3) Excessive doses of drug may lead to coma and

death due to respiratory failure, heart failure

or cerebral haemorrhage

(4) Withdrawal symptoms can never be severe or

life threatening

124. Kajiranga National Park is famous for :-

(1) One horned rhino

(2) Hangul

(3) Wild Indian ass

(4) Snow Leopard

120. 

  

(1) 

(2) 

(3) 

(4) 

121. 





  

(1) 6 (2) 5

(3) 4 (4) 3

122. 
 

(1) 

(2) 

(3) 

(4) 

123.  : -

(1) / 

 

(2) / 





(3) 

 

 

(4)  

 

124.   
(1) 

(2) 

(3) 

(4) 

Time Management is Life Management
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125. Which one of the following options gives the

correct categorisation of six drugs according to the

plant from which they are obtained ?

A
Erythroxylum

coca

B
Cannabis

sativa

C
Papaver

somniferum

(1) Cocaine Heroin , morphine Morphine, Ganja

(2) Cocaine
Hashish, charas, 

heroin

Hashish,  charas,

ganja

(3) Cocaine
Hashish, charas, 

ganja

Heroin,

morphine

(4) Heroin
Cocaine, 
morphine,

ganja

Charas, Hashish

126. Ozone layer present is in :-

(1) Stratosphere (2) Thremosphere

(3) Mesosphere (4) Exosphere

127. How many characters in the list given below are

related with Heroin?

White, odourless, sweet, crystalline, stimulant

(1) 3 (2) 5

(3) 4 (4) 2

128.

A

D
C

B

6%

14%

20%

60%

In following diagram various green house gases

are represented in % Which option is correctly

explained ?

(1) A–CO
2
, B–CH

4
, C–CFC, D–N

2
O

(2)A–CH
4
, B–CO

2
, C–CFC, D–N

2
O

(3) A–CFC, B–CO
2
, C–N

2
O, D–CH

4

(4) None

125.    

                

   : -

A

,sfj Fkz kst+kbye 

dksdk

B

dSusfcl 

lSVkbok

C

iSisoj 

lksEuhQsje

(1) dksdsu fgjksbu] ekWfQZu ekWfQZu]  xk¡tk

(2) dksdsu
g'kh'k]  pjl] 

fgjksbu

g'kh'k] pjl]  

xk¡tk

(3) dksdsu
g'kh'k]  pjl] 

xk¡tk
fgjksbu] e kW fQZu

(4) fgjksbu
dksdsu] ekWfQu]  

xk¡tk
pjl] g'kh'k

126. 

(1)  (2) 

(3)  (4) 

127. 



(1) 3 (2) 5

(3) 4 (4) 2

128.

A

D
C

B

6%

14%

20%

60%


  

(1) A–CO
2
, B–CH

4
, C–CFC, D–N

2
O

(2)A–CH
4
, B–CO

2
, C–CFC, D–N

2
O

(3) A–CFC, B–CO
2
, C–N

2
O, D–CH

4

(4) None



06–04–2013

22/32 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

129. Read the following statements (A - D)

(A) The use of alcohol during adolescence may

also have long term effects, it could lead to

heavy drinking in adult hood

(B) In adolescence male or female drug abuse may

lead to severe facial and body acne

(C) Parenting that combines with high levels of

nurturance and consistent discipline, has been

associated with lowered risk of substance

(alcohol/drugs/tobacco) abuse

(D) The chronic use of drugs and alcohol damages

nervous system and liver (cirrhosis)

How many of the above statement are true : -

(1) 3 (2) 1

(3) 2 (4) 4

130. What is e wastes ?

(1) Earthworm wastes

(2) Environmental wastes

(3) Electronic wastes

(4) Ecosystem wastes

131. Which of the following disease is completely

eradicated from the world : -

(1) Polio (2) diptheria

(3) Tetanus (4) Small pox

132. CNG is :-

(1) Compressed natural gas

(2) Collecting natural gas

(3) Compound natural gas

(4) All of these

133. Which of the following statement is true for the

structure given below : -

(1) It interferes with the transport of the neuro-
transmitter dopamine

(2) useful in patients who have undergone surgery
(3) Obtained from cannabis sativa
(4) It has a potent stimulating action on nervous

system

129.  (A - D)

(A)      





(B) 

 

(C) 

/ / 



(D) 


 : -

(1) 3 (2) 1 (3) 2 (4) 4

130. e-
(1) 
(2) 
(3) 
(4) 

131.      

  : -
(1)  (2) 
(3)  (4) 

132. CNG  
(1) 
(2) 
(3) 
(4) 

133.                    

      :  -

(1) 

(2) 
(3) 

(4) 
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134. Example of insitu conservation is a :-

(1) National park

(2) Botanical garden

(3) Zoological park

(4) Gene bank

135. Disease which is shown in the figure spreads

through : -

(1) Contaminated food and water

(2) Using towel of infected individual

(3) Through the bite by female mosquito vectors

(4) Droplet infection

136. Biodiversity at ecosystem level is called :-

(1) Genetic diversity

(2) Species diversity

(3) Ecological diversity

(4) None

137. Which of following stage of plasmodium is

originated in mosquito : -

(1) Sporozoite

(2) Gametocyte

(3) Both (1) and (2)

(4) Cryptozoite

138. More stable community during ecological

succession is :-

(1) Seral community

(2) Climax community

(3) Pioneer community

(4) None

134.  
(1) 
(2) 
(3)  
(4) 

135.        : -

(1)  

(2) 

(3) 

(4)  
136. 

 
(1)  
(2)  
(3)  
(4) 

137. 

 : -

(1) 

(2) 

(3)  (1)  (2)

(4) 
138.  

(1) 

(2) 

(3) 

(4) 
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139. Which of the following statement is false for the

structure given below : -
Antigen binding site

Light chain

Heavy chain

C C

N
Antigen binding site

(1) Represented by H
2
L

2

(2) These are found in blood so response is termed

as humoral immune response

(3) These are secreted by T-cells

(4) They have four peptide chains

140. In following food chain if 1000 Kcal energy

present in producer then the amount of energy in

top consumer is :-

Grass Grasshopper  Lizard  Hawk

(1) 1000 Kcal (2) 100 Kcal

(3) 10 Kcal (4) 1 Kcal

141. Which of the following pair is not matched

correctly : -

(1) Cytokine barrier : - interferons

(2) Physical barrier : - Mucus coating of

epithelium lining urogenital tract

(3) Vector-borne disease : - Pneumonia

(4) Aedes mosquito : - Chikungunya

142. In grazing food chain source of energy is :

(1) Sun         (2) Dead organic matter

(3) Rabbit         (4) None

143. How many symptoms given below are related
with amoebiasis?
Constipation, abdominal pain, cramps, stools with
excess mucous and blood clots : -

(1) 3 (2) 4 (3) 2 (4) 1

144. Some of the stages of lithosere are labelled as,

identify the correct sequence :-

(a) Herb stage (b) Foliose lichen stage

(c) Crustose lichen stage (d) Shrub stage

(e) Moss stage (f) Forest stage

(1) (c) (b)  (e)  (a)  (d)  (f)

(2) (c) (b)  (a)  (e)  (d)  (f)

(3) (b) (c)  (a)  (e)  (f)  (d)

(4) (b) (c)  (e)  (f)  (a)  (d)

139.                    
     :  -

Antigen binding site

Light chain

Heavy chain

C C

N
Antigen binding site

(1) H
2
L

2 
 

(2) 


(3)  
(4)  

140. 1000 Kcal 
 

    
(1) 1000 Kcal (2) 100 Kcal

(3) 10 Kcal (4) 1 Kcal

141.  : -

(1)  : - 

(2)  : - 



(3)  : - 

(4)  : - 
142.    

(1)  (2) 
(3)  (4) 

143.  




(1) 3 (2) 4 (3) 2 (4) 1

144. 
 
(a)  (b) 
(c)  (d) 
(e)  (f) 
(1) (c) (b)  (e)  (a)  (d)  (f)

(2) (c) (b)  (a)  (e)  (d)  (f)

(3) (b) (c)  (a)  (e)  (f)  (d)

(4) (b) (c)  (e)  (f)  (a)  (d)
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145. Consider the following four statements (A-D) and

select the option which includes all the correct

ones only : -

(A) B-lymphocytes mediate Cell-mediated

immunity

(B) Cell mediated immune response is responsible

for graft rejection

(C) Subsequent encounter with the same pathogen

elicits a highly intensified anamnestic

response

(D) Interferons protect non-infected cells from

further Bacterial infection

Options :-

(1) Statements B, C, D (2) Statements B, C

(3) Statements C, D (4) Statements B, C, D

146. During succession :-

(1) Species diversity and biomass increase but

humus decrease

(2) Species diversity and humus increase but

biomass decrease

(3) Humus and biomass increase but species

diversity decreases

(4) Species diversity, humus and biomass  increase

147. Which of the following factors can affect our

health : -

(A) Habits that we have or lack

(B) Infections

(C) Deficiencies with which a child is born

(D) Food and water we take

(E) Rest and exercise we give to our bodies

Choose the correct option : -

(1) Only A, B, C

(2) Only B, C

(3) A, B, C, D, E

(4) Only B, C, D, E

148. Excess nitrate in drinking water is dangerous for

infants that impairs the oxygen transport ability

of haemoglobin. It causes a disease in infants

known as :-

(1) Anaemia

(2) Blue baby syndrome

(3) Uremia

(4) Minamata

145. (A - D) 

 : -

(A) 



(B) 

 
(C) 



(D)   





(1)  B, C, D (2)  B, C

(3)  C, D (4)  B, C, D

146. 
(1)    


(2) 


(3)  


(4)  

147.   
  : -
(A)    
(B) 

(C) 
(D)  
(E)    
 

: -
(1)  A, B, C
(2)  B, C
(3) A, B, C, D, E

(4)  B, C, D, E

148. 


 
(1) 
(2)  
(3) 
(4) 
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149. Read the following statements (A - D)

(A) When people are healthy they are more

efficient at work

(B) Health for a long time, was considered as a

state of body and mind where there was a

balance of certain humors

(C) William harvey thought that persons with

'blackbile' belonged to hot personality and

would have fevers

(D) Pathogens have to adapt to life within the

environment of the host

How many of the above statements are false : -

(1) 3 (2) 4 (3) 1 (4) 2

150. In any given ecosystem, number of individuals of

a species remains constant over a period of time.

This constancy of number is maintained by :-

(1) Parasites (2) Available food

(3) Man (4) Rabbit

151. High fever recurring every three to four days is

associated with : -

(1) Typhoid (2) Malaria

(3) Both (1) and (2) (4) None of the above

152. The range between "too little and too much" which

determines the existence and abundance of an

organism is called –

(1) Zone of stress

(2) Zone of intolerance

(3) Ecological amplitude

(4) None of these

153. Infected cell can survive while viruses are being

replicated and released is true for which of the

following : -

(1) Macrophage (2) T-Helper

(3) HIV-factory (4) Both (1) and (3)

154. Benthonic zone of ocean have water of :–

(1) Photic zone

(2) Photic + Aphotic zone

(3) Aphotic + Abyssal zone

(4) Aphotic zone

155. 'Mary Mallon' was a carrier of a disease.

This disease spreads through which of the

following : -

(1) Bite of mosquito

(2) Droplets

(3) contaminated food and water

(4) Prolonged physical contact

149.  (A - D)

(A)            
    

(B) 

  

(C) 
 

(D) 


 : -
(1) 3 (2) 4 (3) 1 (4) 2

150. 

 
(1)  (2)  
(3)  (4) 

151. 
 : -
(1)  (2) 
(3)  (1)  (2) (4) 

152. 
 –

(1) 

(2) 

(3) 

(4) 

153. 
 
  : -
(1)  (2) 
(3)  (4)  (1)  (3)

154.  :–
(1) 
(2)  + 
(3)  + 
(4) 

155. 
 : -
(1) 
(2) 
(3)
(4) 
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156. Which statement is true connecting this food chain

Grass  Rabbits  Snakes  Hawks

(1)Each population is omnivorous

(2)Each predator population has a greater biomass

than its prey population

(3)Both (1) and (2)

(4)Each population has a greater biomass than its

predater population

157. Which of the following statement is false for the

structure labelled as "A" in the figure given below?

A

(1) Here maturation of lymphocytes takes place

(2) Here immature lymphocytes differentiate into

antigen-sensitive lymphocytes

(3) Here lymphocytes interact with antigen and

become effector cells

(4) Here micro-environment is provided for

development and maturition of

T-lymphocytes.

158. Biosphere reserve programme started in India:-

(1) 1986 (2) 1984

(3) 1982 (4) 1988

159. "Don't die of ignorance" is said for which of the

following disease : -

(1) Cancer (2) Pneumonia

(3) AIDS (4) Ringworm

160. Checking of re-radiation heat by atmospheric dust

water vapour, ozone, CO
2
 etc., is known as :-

(1) Green house effect

(2) CO
2
 fertilisation effect

(3) Radio active effect

(4) Ozone depletion effect

156. 
     
(1) 
(2)
  

(3) (1)  (2) 
(4)


157.  'A" 

: -

A

(1) 

(2)     

  

(3) 
  

(4) T-


158.  :-
(1) 1986 (2) 1984

(3) 1982 (4) 1988

159. "" 
 : -
(1)  (2) 
(3)  (4) 

160. (re-radiation heat) 
 CO

2
 



(1) 

(2) CO
2
 

(3) 

(4) 
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161. Which of the following pair is not matched

correctly : -

(1) IgG : - Protects body fluids

(2) IgD : - Activation of B-lymphocytes

(3) IgM : - Mediates regional Hypersensitivity

(4) IgE : - Protection from parasites

162. If we completely remove the decomposers from

an ecosystem, the ecosystem functioning will be

adversely affected because :-

(1) Minerals cycling will be blocked

(2) Herbivores will not receive solar energy

(3) Energy flow will be increase

(4) Rate of decomposition of other compounds

will be very high

163. Which of the following vaccine has no side effects

(A) BCG (B) Typhoid

(C) Hepatitis B (D) Rabies

(E) Tetanus

Choose the correct option : -

(1) A, B, C, D, E (2) A, C

(3) C only (4) C, E

164. Which of the following process help in nutrient

conservation :-

(1) Mineralisation (2) Immobilisation

(3) Leaching (4) Nitrification

165. Which of the following is the most common cause

of trisomy and mental retardation in children ?

(1) Klinefelter's syndrome

(2) Turner's syndrome

(3) Down's syndrome

(4) Sickle cell anemia

166. An ecological pyramid of biomass is the

representation of the ecosystems :-

(1) Energy flow through each trophic level

(2) Population in each food web

(3) Dry weight at each trophic level

(4) All of these

167. Which of the following variety of wheat is

resistant to leaf and stripe rust disease ?

(1) Pusa Komal (2) Pusa Sadabahar

(3) Himgiri (4) Pusa Swarnim

161.  : -

(1) IgG : - 

(2) IgD : - 

(3) IgM : - 

(4) IgE : - 

162. 


 

(1) 

(2) 

(3) 

(4)  

163.  : -
(A) BCG (B) 
(C)  (D) 
(E) 
 : -
(1) A, B, C, D, E (2) A, C

(3)  C (4) C, E

164. 

(1)  (2) 
(3)  (4) 

165.   

 : -

(1)  

(2)  
(3)  

(4) 
166. 

 

(1)   

(2) 

(3) 

(4) 
167.   

 :-
(1)  (2) 
(3)  (4)  
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168. Which one of the following regarding ecological

pyramid is not correct ?

(1) In most ecosystem, the pyramid of number and

biomass are upright

(2) In tree-dominanted ecosystem the pyramid of

number is inverted.

(3) The pyramid of energy expresses mainly the

rate of food production

(4) In deep water ecosystem, the pyramid of

biomass is upright.

169. Pomato is an example of :-

(1) Somatic hybrid (2) Allopolyploid

(3) Auto polyploid (4) 1 and 2 both

170. Montreal became protocol effective in :-

(1) 1989 (2) 1975

(3) 1966 (4) 1985

171. Transfer of resistance gene in crop plant is

achieved by :-

(1) Sexual hybridization between target and

source plant followed by selection.

(2) Vegetative propagation

(3) Mutation between source and target plant

(4) Mass selection

172. Match the following columns :-

Column–I Column–II

(i) U.N. conference of (a) Switzerland

human environment

(ii) IUCN head office (b) Rio de Janerrio

(iii) United nations (c) Stockhom

 conference on

desertification

(iv) UNCED earth (d) Nairobi (Kenya)

 submmit held at

(1) (i) c (ii) a (iii) d (iv) b

(2) (i) a (ii) b (iii) c (iv) d

(3) (i) b (ii) c (iii) d (iv) a

(4) (i) d (ii) d (iii) c (iv) a

173. The conventional method of breeding for disease

resistance is that of :-

(1) Hybridization & Selection

(2) Hybridization & Mutation

(3) Mutation & Selection

(4) Polyploidy

168.  

(1) 
  

(2) 


(3)  


(4) 


169.   ?

(1)  (2) 
(3)  (4) 1  2 

170. 
(1) 1989 (2) 1975

(3) 1966 (4) 1985

171. 
 :-
(1) 
 

(2) 
(3)   
(4) 

172.  :-

–I –II

(i)  (a) 

U.N. 

(ii) IUCN  (b) 

(iii)  (c) 
()

(iv) UNCED (d)  



(1) (i) c (ii) a (iii) d (iv) b

(2) (i) a (ii) b (iii) c (iv) d

(3) (i) b (ii) c (iii) d (iv) a

(4) (i) d (ii) d (iii) c (iv) a

173.     
  :-
(1) 
(2) 
(3) 
(4) 
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174. What is an effect of global warming ?

(i) Increased capacity of air to accommodate

moisture

(ii) Altered wind movement pattern

(iii) Increased frequency of extreme events (flood,

drought, etc.)

(iv) Altered range of disease, vectors, pathogens,

etc.

(1) (i) only (2) (ii) and (iv)

(3) (i) and (ii) (4) (i), (ii), (iii), (iv)

175. Parbhani kranti is a variety of  :-

(1) Wheat (2) Rice

(3) Bhindi (4) Potato

176. Match the column-I with column-II :-

Column-I        Column-II

(i) Sea bottom (a) Complete ecosystem

(ii) Rain water (b) Without producer

pond

(iii) Forest (c) Without macro

consumers

(iv) Nutrient input (d) Agro - ecosystem

by man

(1) (i) c (ii) b (iii) a (iv) a

(2) (i) c (ii) b (iii) d (iv) d

(3) (i) b (ii) c (iii) a (iv) d

(4) (i) a (ii) d (iii) c (iv) c

177. Which of the following variety of cotton do not

attract bollworm ?

(1) Smooth leaved

(2) Nector less variety

(3) Solid stem

(4) 1 and 2 both

178. Which is correct for threatened (T) species ?

(1) It is an endangered species like Rhinoceros,

Asiatic Lion, which is in danger of extinction

(2) It is rare species like wild Asiatic Ass with

small population in certain geographical area

(3) It is a vulnerable species like musk deer, black

buck which is likely to move into endangered

category in near future

(4) It is a species to be conserved to avoid its

becoming rare, endangered or vulnerable

species

174.  

(i) 

(ii) (pattern) 



(iii) 


(iv)  
(1) (i) only (2) (ii) and (iv)

(3) (i) and (ii) (4) (i), (ii), (iii), (iv)

175.   :-
(1)  (2) 
(3)  (4) 

176. -I -II   :-

-I        -II

(i)  (a) 

(ii)  (b) 

(iii)  (c)  

(iv)  (d) 



(1) (i) c (ii) b (iii) a (iv) a

(2) (i) c (ii) b (iii) d (iv) d

(3) (i) b (ii) c (iii) a (iv) d

(4) (i) a (ii) d (iii) c (iv) c

177. 
?
(1) 
(2)  
(3) 
(4) 1 2 

178.   
(1)   


 

(2) 

  

(3) 



(4) 
  
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179. Notable method to get rid of the solid wastes are:-

(1) Incineration and pyrolysis

(2) Compostisation

(3) Salinization

(4) Fermentation and distillation

180. A food web :-

(1) Increases variety of food at each trophic level

(2) Balanced the inter relationship amongst plants

(3) Decreases variety of food but increases

quantity of food at each trophic level

(4) Increases variety as well as quantity of food

at each trophic level

179.     
(1) 

(2) 

(3) 

(4) 
180.  

(1) 
(2) 

(3) 

 
(4)  
 

Your moral duty

is to prove that  is 
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